# SCHOOL DISTRICT OF MANAWA CURRICULUM COMMITTEE MEETING AGENDA

Join with Google Meet meet.google.com/bpe-ciwi-xjx Join by phone

(US) +1 727-231-4707 PIN: 309 134 147#

Δ	N	<b>1</b> F	<b>'</b> \	J	F	n
4	IV	ים ד	7 I N		7117	ı,

Date: May 10, 2022 Time: 5:00 p	22 Time: 5:00	p.m
---------------------------------	---------------	-----

Hybrid Meeting Format (In-person Meeting for Board of Education at MES Board Room, 800 Beech Street & Virtual Components)

800 Beech Street & Virtual Components)			
Board Committee Members: Hollman (C), R	tiske, and Fietzer		
In Attendance:			
Timer:	Recorder:		

- 1. Consider Endorsement of Proposal to Change the Progress Monitoring Tool from STAR (Renaissance) to iReady as Presented (Information / Action)
- 2. Update on Technology Education Curriculum Project (Information) (Information / Action)
- 3. Consider Endorsement of Summer School Course and Staffing Adjustment as Presented (Information / Action)
  - a. Addition of Course
  - b. Modification of Courses
- 4. Curriculum Committee Planning Guide (Information / Action)
- 5. Next Meeting Date \_\_\_\_\_
- 6. Next Meeting Items:
  - a. Consider Endorsement of LWHS Science Course Curriculum Revisions (Information / Action) - Summer 2022
  - b. Handbooks/Plans (Action Annual Approval)
    - i. MES Student/Parent Handbook
    - ii. MMS Student/Parent Handbook
    - iii. LWHS Student/Parent Handbook
    - iv. SDM Chromebook Program
    - v. English Language Learner Plan
- 7. Adjourn



#### Students choosing to excel; realizing their strengths.

To: Board of Education From: Dr. Melanie J. Oppor

Date: May 5, 2022

Re: Recommendation to Replace STAR with iReady

The purpose of this memo is to recommend iReady from Curriculum Associates replace the Renaissance Learning STAR assessment for literacy and math universal screeners and progress monitoring as appropriate beginning in the 2022-23 school year.

The teachers in grades K-5 and 6-12 English/language arts (ELA) and mathematics have piloted the iReady assessment program during the spring semester of the 2021-22 school year. Staff had the opportunity to participate in in-person training at their school, explore iReady features, and use iReady for a universal screening to get an authentic experience with the program. Staff have found that the assessment has numerous benefits to include:

- Dynamic (adaptive) testing that adjusts to the students' current functional level (remedial or advanced). Each student moves through the assessment at their own pace.
- Results that align with online resources that students can use to grow their skills in identified weak areas or the next natural progression in their learning of ELA or math.
- Real time results that allow teachers to design small student groups based on specific standards and skills for instruction along with prepared teacher lead mini-lessons designed for the targeted areas.
- The online format offers a variety of question types that mirror the state mandated assessments so students have practice in using their devices effectively and efficiently. (STAR is a multiple choice test only.)
- Brain breaks (fun interactive experiences) are automatically built into the tests for younger students after having completed a designated number of questions. The brain breaks serve both as motivational reinforcement and a short relaxation time.
- The cost of ending STAR and beginning iReady is offsetting in the budget.

The iReady universal screening takes about 45-60 minutes per assessment and is not a timed test. It is longer than the STAR that usually takes about 20-30 minutes per assessment. However, staff feel that the valuable detailed information gleaned from the assessment makes it a worthwhile use of time.

Please do not hesitate to contact me with questions. Thank you for your thoughtful consideration.



# **School District of Manawa**

Students Choosing to Excel, Realizing Their Strengths

To: Dr. Melanie Oppor, Manawa Board of Education

Fr: Dan Wolfgram, Dan Koehler

Date: 5/5/2022

Re: Technology Education Special Project Proposal

The purpose of this memo is to summarize a proposal for the current Woods Technology Education course to be revised to include construction standards.

- Mr. Koehler will write the Woods course curriculum during summer 2022 to include construction standards using the Department of Public Instruction Career and Technical Education Standards.
- The curriculum will emphasize employability skills and community service.
- In the fall semester of SY2022-23, the class will reconstruct the dugout on the upper field.
- In the spring semester of SY2022-23, the class will put new siding on the storage/concessions building on the upper field.
- Using the fund balance, the course/school will receive a one-time allocation of additional funds to purchase all needed materials for the special projects.

# **Scope of Project - Dugout: (Fall of 2022)**

- Replacing the sheeting, ice/water barrier
- New impact-resistant asphalt shingles
- Re-use all current framing components
- Nails

# **Scope of Project - Reside Storage Building (Spring of 2023):**

- New siding
- New trim
- House wrap & water barrier
- Hardware

A complete list of materials needed along with prices is included. The prices are quoted from Menards.com.

### **School District of Manawa**

800 Beech Street Manawa, WI 54949

Phone: (920) 596-2525 Fax: (920) 596-5308

# Little Wolf High School Manawa Middle School

515 E. Fourth St Manawa, WI 54949 Phone: (920) 596-2524 Fax: (920) 596-2655

#### **Manawa Elementary**

800 Beech Street Manawa, WI 54949

Phone: (920) 596-2238 Fax: (920) 596-5339

# ManawaSchools.org



/ ManawaSchools



/ ManawaSchools

Product SKU #	Model #	
2293670	MAV4SC050	
5369350	GES00000	
4364515	TSBW433	
1613240	43933	
1612996	1612996	
1460008	1460008	
1460017	JCC75R	
1461004	VTSTB	
1488220	14095150	
1488225	14525150	
1488235	14078150	
1488210	13904150	
2291620	2291620	
1516650	1516650	
1511830	1511830	
1235070	1235070	

_			
Des	ccri	nti	nΩ

Grip Fast 1-1/2" Finyl Sidina Nail - 50 lb

GE Advanced Clear Window & Door silicone

Tite seal 4" x 33' Self-adhesive Butyl Winidow Flashing Tape

Kimberly-Clark BLOCK-IT 1- 7/8" x 164' Seam Tape

Kimberly-Clark BLOCK-IT 9' x 75' House Wrap

Malco Snap Lock Nail Hole Punch

Malco Redline Siding J-Chanel Cutter 3/4"

ABTCO 1/2" Vinyl Starter Strip

Gentek 3/4" Dover Gray Premium J-Channel

Gentek 3/4" Dover Gray Outside Corner

Gentek 12' Dover Gray Understill Trim

Concord Double 4" x 12' 6" Dover Gray Vinyl Sliding

Grip Fast 1-1/4" Electro-Galvanized Roofing Nail - 30 lb Bucket

Atlas StormMaster Shake Black Shadow Impact-Resistant Roofing Shingles (32.8 sq feet) black Shadow

Tarco Leak Barrier 3' x 65' Granulated Ice & Water Barrier (195 sq ft)

5/8 x 4 x 8 AC2 Green Pressure Treated AG CCX Plywood Sheathing

Quantity	Ind Price	<b>Total Price</b>
1	\$395.99	\$395.99
4	\$8.78	\$35.12
3	\$14.99	\$44.97
1	\$12.49	\$12.49
2	\$94.99	\$189.98
1	\$19.48	\$19.48
1	\$48.71	\$48.71
12	\$3.98	\$47.76
14	\$4.99	\$69.86
4	\$15.99	\$63.96
7	\$4.99	\$34.93
130	\$6.99	\$908.70
2	\$47.75	\$95.50
14	\$45.00	\$630.00
4	\$55.37	\$221.48
14	\$54.79	\$767.06
		\$3,585.99



#### Students choosing to excel; realizing their strengths

**To:** Board of Education

**From:** Michelle Johnson, District Literacy Specialist

**Date:** 04/11/2022

**Re:** Summer School Course and Staffing Adjustment

The purpose of this memo is to request the addition of a course and staffing adjustment for the School District of Manawa 2022 Summer School Adventure. In response to parents reaching out to Ms. Anderson and Ms. Seka with a request for this course, as well as the student interest children interacting with Ms. Anderson and Ms. Seka during the regular school year, it is proposed that an additional course is offered to our students for Summer School Adventure 2022.

# New Course Proposal from Mrs. Megan Anderson and Jill Seka

Grades K-5

15 days

4 hours/day

# Zoomania (By invitation only)

An opportunity for all of our exceptional learners in grades K-5 to continue to expand their functional, academic, social, and communication skills. Students will learn all about Zoos in a fun, sensory, and play-based environment. Teachers will be using a unit from our Made for Me Literacy curriculum which targets reading and math as well as incorporating some cooking, sensory and art projects.

Co-Taught- Ms. Megan Anderson and Jill Seka

Projected students- 14 students



#### Students choosing to excel; realizing their strengths

**To:** Board of Education

**From:** Michelle Johnson, District Literacy Specialist

**Date:** 04/11/2022

**Re:** Summer School Course and Staffing Adjustment

The purpose of this memo is to request course and staffing adjustment for the School District of Manawa 2022 Summer School Adventure. Due to the large numbers of students interested in taking Beginning Guitar, and to expand course options for grades one through three, the summer school administrative team is requesting approval for the course adjustment below:

# From— (which could only have a max of 6 students)

#### **Beginning Guitar and Music**

Grades 1-3

15 days

1 hour/day

Students will learn basic fingerpicking, notation, rhythm, strumming and three basic chords (Tonic, Dominant, Subdominant) as well as how to tune the guitar. An acoustic guitar (from school) will be provided. A small presentation will be given at the end of the three weeks for parents/family for students to showcase their music.

#### **Revised proposed course:**

### **Experimenting with Music (max is 25-30 students)**

#### Grades 1-3

Students will learn songs on a variety of instruments from boomwhackers to handbells to xylophones. In addition, they will experiment with making and playing water harps, straw pan pipes, and other instruments, as well as an introduction to body percussion. We will use popular songs such as "Encanto's" "We Don't Talk About Bruno" and others. This is a fun and accessible class for the younger students.

Additionally, please see below for staffing changes and the rotation schedule for the weightlifting course.

# **Updated Weightlifting Schedule and staffing**

Weightlifting will take place Mondays through Thursdays starting June 6th through July 29th. The hours will be from 6:30 to 9:30 am.

The staff will consist of Gen Gunderson, Patrick Collins, Casey Johnson, Brad Johnson, Jeff Bortle, Jake Kaczorowski, and Jim Rawlings. They will work on a rotating schedule. The hours indicated here are a rough estimate.

Gen Gunderson- 6 hours per week \* 7 weeks = 42 hours

Patrick Collins- 6 hours per week \* 7 weeks = 42 hours

Casey Johnson- 9 hours per week \* 7 weeks = 63 hours

Brad Johnson - 9 hours per week \* 7 weeks = 63 hours

Jeff Bortle- 6 hours per week \* 7 weeks = 42 hours

Jake Kaczorowski- 6 hours per week \* 7 weeks = 42 hours

Jim Rawlings- 6 hours per week \* 7 weeks = 42 hours

Monday	Tuesday	Wednesday	Thursday
6:30- 8:00 am	6:30- 8:00 am	6:30- 8:00 am	6:30- 8:00 am
7:30- 8:30 am **	7:30- 8:30 am**	8:00- 9:30 am	7:30- 8:30 am**
8:00- 9:30 am	8:00- 9:30 am		8:00- 9:30 am

<sup>\*\*</sup> These workouts will be run by Gen Gunderson & Patrick Collins. All others will be run by the other coaches in a rotation.